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Que.-1
Give the answers of following questions (ANY EIGHT)



[16] 

1) Give electronic configuration of 7N & 10Ne.

2) Define:

 (a) Ionization energy
 (b) Electron affinity. 

3) Draw shape of P & S orbital.

4) Define: 
(a) PH 


(b) Degree of Ionization.

5) Write the factors affecting the electrical conductivity of electrolyte.

6) Define: 
(a) Buffer solution 
(b) Specific conductivity.

7) Name the types of buffer solutions with necessary example.

8) What is the corrosion?

9) Give the definition of “Electro Chemical Series”.

10) What is the hard water and soft water?

11) Write the formula and name of salts causing temporary hardness.

Que.-2 
Give the answers of following questions (ANY THREE)



[09] 

1) Explain Hund’s rule with example

2) Explain the self Ionization of water.

3) Explain bond formation in NaCl.

4) Short note: N-type semiconductor.

5) Explain the oxidation-reduction reaction of metal with example.

Que.-3 
Give the answers of following questions (ANY TWO)



[10] 

1) Write the name and explain factors affecting the degree of Ionization.
2) Explain the construction and working of electrochemical cell.

3) Explain the Ionization of strong acid and strong basic.

4) Short note: Permutit process.

Que.-4
(A)  Give the answers of following questions (ANY THREE)


[09] 

1) Calculate the PH value of 0.002M HCl solution.
2) Calculate the PH value of 0.001M H2SO4.

3) Calculate the PH of 0.005M (H3O+) hydronium ion in solution.

4) A sample of water contains following dissolved salts,

Ca(HCO3)2 = 8.1 mg/lit   
Mg(HCO3)2 = 29.2 mg/lit

CaCl2 = 11.1 mg/lit

MgSO4 = 6.0 mg/lit

Calculate the temporary, permanent hardness and total hardness.
5) A sample of water gave following results on analysis. Calculate temporary, permanent and total hardness of water. Also calculate total hardness in degree clark.




Ca(HCO3)2 = 81 mg/lit       

CaCl2  =  80 mg/lit




Mg(HCo3)2  = 14.6 mg/lit    

MgSO4 = 6.0 mg/lit




CaSO4 = 6.8 mg/lit    
          
 
MgCl2  = 19.0 mg/lit

a) Fill in the blanks







[06]
1) Energy of electron is _______ in 3d orbital than 4s.

2) Crystal of Al is ________type.

3) Electron affinity of chlorine atom is ______ than flouring atom.

4) PH scale for strong acid is _____ and for strong base is ______.

5) Galvanizing is ______ coating.

6) 100 PPM = _______ degree clark.

NyÄfpsu A“yhpv

”°ï“: 1   “uQ¡“p dp» ‘u Nd¡ s¡ ApW “p Ähpb Ap”p¡






( 16 )

( 1 )  “uQ¡“p“u Bg¡L¹V²p¡“ k»fQ“p gMp¡.
(1) 7 N 
(2 ) 10 Ne 

( 2 )  ìep¿ep Ap”p¡. 
(1) Ape“uLfZ iqL¹s

(2) Bg¡L¹V²p¡“ b»’ysp


( 3 )  S A“¡ P LnL“p» ApLpf vp¡fp¡.


( 4 )  ìep¿ep Ap”p¡. 
(1) PH



(2) Ape“uLfZ A»i

          ( 5 )  qhÝ’ys qhcpÄe ”vp‘p¡®“p Ägue îphZp¡“u huÄhplLsp Ä¡d“p» ”f Ap’pfus R¡ s¡ ”fubmp¡ 
                   “p “pd Ap”p¡.                             

( 6 )   ìep¿ep Ap”p¡. 
(1) bfa îphZ


(2) qhqiô hplLsp


( 7 )  Äêfu DvplfZ Ap”u bfa îphZ “p ”°Lpf ÄZphp¡.


( 8 )  npfZ A¡Vg¡ iy ?


( 9 )  qhÝ’ys   fpkpeqZL Lp¡j“u ìep¿ep Ap”p¡.


(10 )  kMs ”pZu A“¡ “fd ”pZu A¡Vg¡ iy?


( 11)  ”pZu“u nqZL LqW“sp dp» fl¡gp npfp¡“p “pd A“¡ kyÓp¡ ÄZphp¡.

”°ï“: 2  Nd¡s¡ ÓZ“p Ähpb Ap”p¡.







( 09 )

( 1 ) ly»X “p¡ q“ed gMp¡ A“¡ kdÄphp¡.


( 2 ) ”pZu“y» õh Ape“uLfZ kdÄphp¡.


( 3 ) NaCl dp» b»’q“dp®Z kdÄphp¡.


( 4 ) N - ”°Lpf“p A’®hplL ”f Vy»L“p¡’ gMp¡.


( 5 ) Ap¡qL¹kX¡i“ - fuXL¹i“ ”°q¾epAp¡ DvplfZ kp‘¡ kdÄphp¡.

”°ï“: 3  Nd¡s¡ b¡ “p Ähpb Ap”p¡.








( 10 )


( 1 )  Ape“uLfZ A»i D”f Akf Lfsp ”qfbmp¡“p» “pd gMp¡ A“¡ kdÄphp¡.


( 2 )  qhÝ’ys fpkpeqZL Lp¡j “u fQ“p A“¡ Lpe®”Ý’qs kdÄphp¡.


( 3 )  ”°bm A¡qkX A“¡ ”°bm b¡BT “y» Apeq“L k»syg“ kdÄphp¡.


( 4 )  Vy»L“p¢’ gMp¡ - ”fçeyVuV ”Ý’qs.

”°ï“: 4  ( A) Nd¡ s¡ ÓZ NZp¡.








( 09 )


( 1 )  0.002M HCl “p» ÖphZ “u PH NZp¡.


( 2 )  0.001M H2SO4 “p»   ÖphZ “u PH NZp¡.


( 3 )  0.005M lpBX²p¡q“ed( H3o+) Ape““u kp»Ösp ’fphsp Ägue ÖphZ “y» PH dyëe NZp¡.


( 4 )  ”pZu“p A¡L “dy“pdp» fl¡gp npfp¡“y» ”°dpZ “uQ¡ ”°dpZ¡ R¡.



Ca(HCO3)2 = 8.1 mg/lit


CaCl2  =  11.1 mg/lit



Mg(HCO3)2  = 29.2 mg/lit

MgSO4 = 6.0 mg/lit



Ap ”pZu“p “dy“p “u nqZL LqW“sp, Lpedu LqW“sp A“¡ Lyg LqW“sp NZp¡.


( 5 )  ”pZu“p “dy“pdp» fl¡gp npfp¡“y» ”°dpZ “uQ¡ ”°dpZ¡ R¡.



Ca(HCO3)2 = 81 mg/lit
       

CaCl2  =  80. mg/lit



Mg(HCo3)2  = 14.6 mg/lit
    
MgSO4 = 6.0 mg/lit



CaSO4 = 6.8 mg/lit    
           
MgCl2  = 19.0 mg/lit

  

nqZL,Lpedu A“¡ Lyg LqW“sp ip¡¡’p¡ A“¡ s¡“¡ XuN°u LgpL® dp» NZp¡.

”°ï“: 4 ( b )  Mpgu ÄÁep ”yfp¡.








( 06 )


( 1 )  4s Lfsp» 3d LnLdp» Bg¡L¹V²p¡“ iqL¹s                 lp¡e R¡.


( 2 )  Al “p¡ õaqVL                      ”°Lpf“p¡ lp¡e R¡.


( 3 )  ã¹gp¡fu“ ”fdpZy Lfsp» L¹gp¡fu“ ”fdpZy“u Bg¡L¹V²p¡“ b»’ysp                 lp¡e R¡.


( 4 )  Ägv A¡kuX “p¡ PH dp”¾d                       R¡ S¹epf¡ ApëLpgu“p¡                   R¡.


( 5 )  N¡ëh¡“pBTuÞN                 AphfZ R¡.


( 6 )  100 PPM =                      XuN°u L¹gpL®.
